Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	23.61	5.0826	120.0000	100.00	3	Cannon, Paul
2	120	47.58	2.5221	59.5460	49.62	8	Nelson, Mick

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	120	45.01	2.6661	120.0000	100.00	5	Donavon, Chris
2	120	48.47	2.4758	111.4339	92.86	19	Lydon, Mark
3	120	58.17	2.0629	92.8520	77.38	18	Morris, Simon

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	120	36.44	3.2931	120.0000	100.00	17	Meddins, Daryl
2	120	46.20	2.5974	94.6493	78.87	20	Davies, George
3	70	35.16	1.9909	72.5483	60.46	2	Davies, Martin

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	31.98	3.7523	120.0000	100.00	13	Jiggens, Mark
2	120	56.84	2.1112	67.5158	56.26	16	Marechal, John

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	7.44	5.3763	50.0000	100.00	3	Cannon, Paul
2	40	11.73	3.4101	31.7136	63.43	8	Nelson, Mick

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	10.08	3.9683	50.0000	100.00	19	Lydon, Mark
2	40	15.88	2.5189	31.7380	63.48	18	Morris, Simon
3	50	24.69	2.0251	25.5164	51.03	5	Donavon, Chris

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	11.00	3.6364	50.0000	100.00	2	Davies, Martin
2	50	16.92	2.9551	40.6324	81.26	17	Meddins, Daryl
3	50	18.15	2.7548	37.8788	75.76	20	Davies, George

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	6.18	6.4725	50.0000	100.00	13	Jiggens, Mark
2	40	10.94	3.6563	28.2450	56.49	16	Marechal, John

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	5.40	7.4074	40.0000	100.00	3	Cannon, Paul
2	30	6.70	4.4776	24.1791	60.45	8	Nelson, Mick

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	4.99	8.0160	40.0000	100.00	5	Donavon, Chris
2	40	6.61	6.0514	30.1967	75.49	18	Morris, Simon
3	30	5.74	5.2265	26.0801	65.20	19	Lydon, Mark

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	6.04	6.6225	40.0000	100.00	20	Davies, George
2	40	6.82	5.8651	35.4252	88.56	2	Davies, Martin
3	40	15.04	2.6596	16.0638	40.16	17	Meddins, Daryl

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	4.86	8.2305	40.0000	100.00	13	Jiggens, Mark
2	40	18.17	2.2014	10.6990	26.75	16	Marechal, John

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	30	5.96	5.0336	30.0000	100.00	8	Nelson, Mick
2	30	6.86	4.3732	26.0641	86.88	3	Cannon, Paul

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	30	5.68	5.2817	30.0000	100.00	5	Donavon, Chris
2	30	6.72	4.4643	25.3571	84.52	19	Lydon, Mark
3	30	7.03	4.2674	24.2390	80.80	18	Morris, Simon

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	30	5.86	5.1195	30.0000	100.00	2	Davies, Martin
2	30	5.90	5.0847	29.7966	99.32	17	Meddins, Daryl
3	30	7.15	4.1958	24.5874	81.96	20	Davies, George

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	30	5.19	5.7803	30.0000	100.00	13	Jiggens, Mark
2	30	9.04	3.3186	17.2235	57.41	16	Marechal, John

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	12.94	4.6368	60.0000	100.00	3	Cannon, Paul
2	60	20.86	2.8763	37.2196	62.03	8	Nelson, Mick

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	20.13	2.9806	60.0000	100.00	18	Morris, Simon
2	60	21.58	2.7804	55.9685	93.28	5	Donavon, Chris
3	60	21.62	2.7752	55.8649	93.11	19	Lydon, Mark

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	16.53	3.6298	60.0000	100.00	2	Davies, Martin
2	60	24.46	2.4530	40.5478	67.58	20	Davies, George
3	60	45.99	1.3046	21.5656	35.94	17	Meddins, Daryl

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	14.43	4.1580	60.0000	100.00	13	Jiggens, Mark
2	60	24.75	2.4242	34.9818	58.30	16	Marechal, John

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	6.80	5.8824	40.0000	100.00	3	Cannon, Paul
2	40	10.76	3.7175	25.2788	63.20	8	Nelson, Mick

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	8.30	4.8193	40.0000	100.00	5	Donavon, Chris
2	40	10.64	3.7594	31.2030	78.01	19	Lydon, Mark
3	40	12.37	3.2336	26.8391	67.10	18	Morris, Simon

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	14.24	2.8090	40.0000	100.00	20	Davies, George
2	40	17.14	2.3337	33.2322	83.08	17	Meddins, Daryl
3	15	13.09	1.1459	16.3178	40.79	2	Davies, Martin

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	9.82	4.0733	40.0000	100.00		Jiggens, Mark
2	40	21.60	1.8519	18.1852	45.46	16	Marechal, John

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	9.01	4.4395	40.0000	100.00	3	Cannon, Paul
2	40	11.67	3.4276	30.8826	77.21	8	Nelson, Mick

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	9.37	4.2689	40.0000	100.00	5	Donavon, Chris
2	40	12.57	3.1822	29.8170	74.54	19	Lydon, Mark
3	20	19.08	1.0482	9.8218	24.55	18	Morris, Simon

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	10.04	3.9841	40.0000	100.00	2	Davies, Martin
2	40	10.63	3.7629	37.7799	94.45	17	Meddins, Daryl
3	40	17.13	2.3351	23.4443	58.61	20	Davies, George

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	10.08	3.9683	40.0000	100.00	13	Jiggens, Mark
2	40	14.88	2.6882	27.0968	67.74	16	Marechal, John

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	15.65	3.8339	60.0000	100.00	3	Cannon, Paul
2	60	20.84	2.8791	45.0576	75.10	8	Nelson, Mick

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	15.39	3.8986	60.0000	100.00	5	Donavon, Chris
2	60	22.94	2.6155	40.2528	67.09	19	Lydon, Mark
3	60	24.17	2.4824	38.2044	63.67	18	Morris, Simon

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	14.09	4.2583	60.0000	100.00	2	Davies, Martin
2	60	14.28	4.2017	59.2017	98.67	20	Davies, George
3	60	14.84	4.0431	56.9677	94.95	17	Meddins, Daryl

Jan 2023

Printed January 29, 2023 at 19:04



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	12.16	4.9342	60.0000	100.00	13	Jiggens, Mark
2	60	20.78	2.8874	35.1107	58.52	16	Marechal, John